ITEM

DESCRIPTION

DWG # |HARDWARE LIST #| 1 | VERTICAL SUP MEMBER  B22874
A19009 14 2 | NARROW TOP CAP A19009
3 | LANE DVDR SUP MEMBER B22875
4 | LANE DIVIDER B22876
5 | SUP MEMBER TIE ANG B22877
6 | UNISTRUT NUT
i 7 | UNISTRUT END CAP
S| 8 | 3/8" HEX. BOLT X 3/47
Al Al & <[ 9 | 3/8" LOCK WASHER
LJ LJ - 10| 3/8°-16 NUT
11 | 3/8" FLAT WASHER

END VIEW
EXPLODED VIEW
NOTE: CONV. BED NOT SHOWN FOR CLARITY.
D CLR | 09/27/05| AD'D CHART FOR HARDWARE LIST 8417
REV. | INT. | DATE CHANGES ECO#
FO No. TITLE
DIST. (FAD) FOR SLIDER BED LANE DIVIDER 23—834
USER
N TOLERANCES: DECIMAL  +.03125” DATE NEXT ASSEMBLY
S Eg E DESIGNED BY: CHECKED Bv:  DATE | 5/3/94
2 ‘ ‘ B22876—00—000G
%\ E%iég SCALE
<&
© CONVEYOR SYSTEMS,INC. | PRAYN BY: APPROVED BY:  DATE | S DEAAW[I)NG%UZBER
WEST MEMPHIS, ARKANSAS R. WILLIAMS N




